t=(X+Yx/5)n=(x+«/H)n
5=(X+y\/5)n =(x+m)”

(WO =i +1f

y?D =x%+1
x2 — yzD -1
x=1234,

X,y



(B f =W +1f

y’D=x*+1

2

x> -y’D=-1

VD, x,y V2 41000

V2
X=1> X+Vx>+1=1+1> +1=1++2

Va1
X=32 > X+4/X>+1=32+4/322 +1=32++/1025 =32++/55 41
— 32+ 541
J13
X=18 > X+4/x*> +1=18++/18% +1=18++/325 =18 ++/5513
—18+5+13
/58
X=99 > X+4/X*> +1=99+4/99% +1 =99+ /9802 =99 + /1313 58
=99+13/58
/106

X = 4005 — X +4/X? +1 = 4005 ++/4005% +1 = 4005 + /16040026
= 4005 ++/389 389 106 = 4005 + 389+/106

11 J61

X =29718 —> X+ /x> +1=29718 ++/29718° +1 = 29718 + /883159525
— 29718 + /3805 3805 61 = 29718 + 3805+/61



13 /193
X =1764132 — X +4/X? +1 =1764132 + /1764132 +1

=1764132 + /3112161713425

=1764132 + /1269852 193
=1764132 +126985+/193
V193
1000

_2,5,17,26,37,50,65,82,101,122,145,170,197,226,257,290,325,362,401,442,485
530,577,626,677,730,785,842,901,962
~41,130,269,370,458,697,986
~13,29,53,74,85,89,125,173,185,218,229,293,338,346,365,373,445,533,557,629
701,733,818,845,914,925,965,985

_58,73,202,250,274,314,349,425,538,761
~106,113,137,149,265,389,493,610,698,754,970

11 -.61,97,233,298,317,554,757,773,794,797

13-.193,281,481,565,593,746,778,997

15-.109,353,461,617,685,709,877

17 - 157,241,313,449,829857,941

19-.337,509,521,569,653,865,922,929,977

21-.181,277,394,397,409,433,641,809,953

23-.586,634,853

25,457,881

27949

29..821

31-.601,673

33-.613,937

35 (1061)



37 421,769
39-541,661

/9999
X+Vx2 +1=x+YyJ/D

s=(x+vxt+1]  n=0123
(-vxt+1]  n=o0123

S



